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if( i%3 == 0 )

{
System.out.println("3 ATH&LDEDITERAXIT");
}
else
{
if( i%3 == 1)
{
System.out.println("1 ®ERDET");
}
else
{
System.out.println("1 KEDFEEA");
}

}
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import java.io.*;
class Assignment7_5{
public static void main(String[] args) throws IOException{
/] F—IR— RER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

char wareki; // FOBOZEIRMA
int year_wareki; // 0B
int year seireki; // POf8

/1 BBAB DR
System.out.println("fIBDSFAABNBELET, ");

// FOBODEIR \
System.out.printlIn("FIBDFSZAHDLTIEEU, ");
System.out.println("88;8-m K1E-t B8%0->s 3EK-h");
wareki = br.readlLine().charAt(9);

// FOBDSEBNDE}E

switch(wareki)

SHBICH UTHF—MR— FDSADSNDINBEEAEBICHRE UEH T DNIE

}
}//public static void main()
}//class Assignment7_5
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